The following program implements an iterative C function which takes an unsigned integer and
prints its representation to the base  7 using a stack;  

/* Program to convert an unsigned integer to its representation in base 7, using a stack

 */ 

#include<stdio.h>

#include<stdlib.h>

// implementing stack by linked list

struct node{


int data;


struct node* next;

};

struct node* listhead = NULL;

void push(int x)

{


struct node* t = (struct node*)_____________________; /*creates node*/


if( _______){
printf("Cannot allocate memory");
exit(1);
}/*error checking*/


____________;


// put this new node at the head of the linked list


_________ = listhead;


listhead = _________;

}

int pop()

{


struct node* t;


int n;


if( listhead == NULL )

return -1;



// return the data in the first node and delete first node


t = listhead;


n = _________; /*takes the element in the array*/

listhead = ____________; /*Advances the list*/

_____________ /*memory management operation*/

return n;

}

int isEmpty()

{


if( listhead == NULL )
return 1;


else
return 0;

}

// function that takes an unsigned int and prints its representation to the base 7, using stack

void toBase7( unsigned int num )

{


int t = num, rem;


while(t>0)


{



___________; /*find the remainder*/


________;



push(rem);



printf("\npushed into stack: %d", rem);


}


printf("\nThe representation of the number in base 7 is:\n");


while( ____________) /*error check*/

{



t = pop();



printf("%d",t);


}


printf("\n");

}

int main()

{


unsigned int num;


printf("\nEnter a number: ");


scanf("%d", &num);


toBase7(________);


return 0;

}

Given input --- 47, 60, 56  represent the output. 

